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Addition two/three numbers up to 10000 #7

5305 4 2471 =

5991 + 9548 =

1408 + 7104 =

9028 + 6955 =

9551 + 1013 =

9120 + 2181 4 4744 =
2363 + 8858 =

1688 + 9528 =

9246 4 976 4 3374 =
5146 + 7628 4+ 9593 =
5924 + 4911 =

8604 4 8111 + 5627 =
1199 + 1934 + 8387 =
2702 + 5604 =

9388 + 5140 4 5572 =
9738 + 8137 =

1064 + 994 + 5072 =
5685 4 369 + 7564 =
8088 4 965 + 3575 =
2119 + 4056 =
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Addition two/three numbers up to 10000 #7 (Solutions)

5305 + 2471 = 7776

5991 + 9548 = 15539

1408 47104 = 8512

9028 + 6955 = 15983

9551 + 1013 = 10564

9120 + 2181 + 4744 = 16045
2363 + 8858 = 11221

1688 + 9528 = 11216

9246 4 976 + 3374 = 13596
5146 4 7628 + 9593 = 22367
5924 4+ 4911 = 10835

8604 + 8111 + 5627 = 22342
1199 + 1934 + 8387 = 11520
2702 4 5604 = 8306

9388 4 5140 + 5572 = 20100
9738 + 8137 = 17875

1064 + 994 4 5072 = 7130
5685 + 369 + 7564 = 13618
8088 4+ 965 + 3575 = 12628
2119 + 4056 = 6175



